0/8/2021 Print Questions
1. An actual cost is the cost incurred - a historical or past cost.

O True

(O False

ID: 2.1-8

2. A cost is a resource sacrificed or forgone to achieve a specific objective.

O True
(O False

ID: 2.1-10

3. The determination of a cost as either direct or indirect depends upon the

—

O A. inventory valuation
(O B. tax system chosen
(O C. accounting standards

ID: 2.2-7

4. Which one of the following items is a direct cost?

(O A. Customer - service costs of a multiproduct firm; Product A is the cost object.

(O C. The salary of a maintenance supervisor in a multiproduct manufacturing plant; Product B is the
cost object.

(O D. Utility costs of the administrative offices; the accounting department is the cost object.

ID: 2.2-11
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5. A cost may be direct for one cost object and indirect for another cost object.

QO True
O False
ID: 2.2-16

6. Improvements in information - gathering technologies are making it possible to trace more costs as direct.

Q True
(O False

1D: 2.2-18

7. Adirect cost of one cost object cannot be an indirect cost of another cost object.

O True
O False

ID: 2.2-20

8. The broader the cost object definition (i.e., plant versus product), the more confident the manager will be about the accuracy of the direct cost amounts,

@=sTrue»
O False

ID: 2.2-22
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9. Rally Synthesis Inc. manufactures and sells 100 bottles per day. Fixed costs are $22,000 and the variable costs for manufacturing 100 bottles are $30,000. Each
bottle is sold for $1,200. How would the daily profit be affected if the daily volume of sales drop by 10%?

QO A. profits are reduced by $9,000
O B. profits are reduced by $12,000
O C. profits are reduced by $3,000
QO D. profits are reduced by $59,000

ID: 2.3-7

Cost - 30,000

Cost 3er produer - 30,000/100 = 3p0 _

Profi + pec procuct = 1,200-300 = 900 P

Rofit - Goo x100 = 90,000 “oe .tmpadcd
Joo XqO = 81,000

-\"; 7,000

10.

O A. property taxes

(O B. CEO'ssalary

O C. rent of the building
(O D. electricity expenses |

ID: 2.3-9

Which one of the following is a variable cost for an insurance company?

1.

If each motorcycle requires a belt that costs $20 and 2,000 motorcycles are produced for the month, the total cost for belts is

(O A. considered to be an indirect fixed cost
(O B. considered to be a direct variable cost
(O C. considered to be an indirect variable cost
(O D. considered to be a direct fixed cost

ID: 2.3-11

https://xlitemprod. pearsoncmg.com/api/v1/print/highered

3/51




9/8/2021 Print Questions

12.  When 24,000 units are produced, variable costs are $12.00 per unit. Therefore, when 18,000 units are produced

O A. variable unit costs will decrease to $9.00 per unit
(O B. variable costs will total $288,000

O C. variable costs will remain at $12.00 per unit

(O D. variable unit costs will increase to $16.00 per unit

ID: 2.4-4a

13. Swansea Manufacturing currently produces 3,000 tires per month. The following per unit data for 3,000 tires apply for sales to regular customers:

Direct materials $35
Direct manufacturing labor 8
Variable manufacturing overhead 13
Fixed manufacturing overhead 20

Total manufacturing costs $76

The plant has capacnty for 5,000 tires and is conSIdenng expandlng productlon to 4,000 tires. What is the total cost of producing 4,000 tires?

o 3 don'4 hawt o adJ' FC since #s Oﬂfaﬂn% @ ‘:“P
A. $179,000

8:: :Zz:ggg 3,000 X 7 + 1,000 ¥ 506

O D. $284,000 -

ID: 2.4-7a

4/51
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14.  The following information pertains to Alleigh's Mannequins:

Manufacturing costs $1,700,000

Units manufactured
Units sold
Beginning inventory

What is the amount of gross margin?
O A. $1,700,000
O B. $2,750,000

QO C. $1,500,000
O D. $1,250,000

ID: 2.5-6a

34,000

Print Questions

25,000 units sold for $110 per unit

0 units

Cost per product - |, 700,000 /34,000 = 5O
Qales - 75,000 X 110 = &,750,000
CoGS - 45,000 X S50 =- 1,230,000

—_— —
aM 1,500,000

15. Puritan Apparels is a clothing manufacturer. Unit costs associated with one of its products, Product FGS1156, are as follows:

Direct materials
Direct manufacturing labor
Variable manufacturing overhead
Fixed manufacturing overhead
Sales commissions (2% of sales)
Administrative salaries

Total

$200
50
15
36

8

27
$336

What are the inventoriable costs per unit associated with Product FGS11567

O A. $321
O C. $265

QO D. $136 DM

ID: 2.5-45a

00 + SO0 +

DL

15 + 3,
vMoH  FMoH
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16. All costs reported on the income statement of a service - sector company are inventoriable costs.

O True

O False

ID: 2.5-62

17.  All manufacturing costs are period costs.

O True
O False

ID: 2.5-61

18.  Which of the following includes both traced direct costs and allocated indirect costs?
(O A. cost assignments
(O B. cost allocations
(O C. cost pools
O D. cost tracing

ID: 4.1-10

19. The cost allocation base

(O A. is anything for which a measurement of costs is desired
(O B. is a grouping of individual indirect cost items
O C. isasystema

(O D. are costs related to a particular cost object that cannot be traced to that cost object in an
economically feasible way

ID: 4.1-11
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20. Direct costs are allocated to the cost object using a cost-allocation method.

O True
() False

ID: 4.1-12

21. Process costing

O A. results in different costs for different units produced

O B. is used exclusively in manufacturing

OC¢c. is commonly used by general contractors who construct custom-built homes
O D. allocates all product costs, including materials, and labor -

ID: 4.2-2

22. Job costing

O A. is used when each unit of output is identical

O B. records the flow of costs for each product or service

O €. cannot be used by the service industry

O D. allocates an equal amount of cost to each unit made during a time period

ID: 4.2-4

23. Job costing is likely to be used by

O A. breakfast cereal producers

O C. oil refining companies

2 R 5:ome

O D. mortgage payment processors

ID:4.2-5
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24, Which of the following differentiates job costing from process costing?

O A. Job costing is used by manufacturin
industries.

O B. Process costing is used when each unit of o
unique products not produced in batches.

g industries, and process costing is used by service

utput is identical, and job costing deals with

O €. Job costing is used when each unit of output is identical and not produced in batches, and

process costing deals with unique products produced on large scale.
QO D. Job costing is used when each unit of out

put is identical, and process costing deals with
unigue products.

ID:4.2-6

25. Place the following steps in the order suggested by the seven steps used to assign costs to individual jobs:
A. Identify indirect costs

B. Compute the total cost of the job

C. Select cost-allocation bases

D. Compute the indirect cost rate

O A. BACD
O B. ACDB
QO C. CADB
O D. DCAB

ID: 4.4-3

26. X-Industries manufactures 3 - D printers. For each unit, $3,000 of direct material is used and there i

s $2,000 of direct manufacturing labor at $20 per hour.
Manufacturing overhead is applied at $25 per direct manufacturing labor hour. Calculate the profit ea

rmed on 50 units if each unit sells for $9,000.

O A. $120,000 Cost per onit - 3,000 X000 + (3,000/40)% 2S = 7,500
GBS ’ b DM DL MOH
O C. $80,000 _ 4+ -9,000- 7So0 = 1,500
O D. $2,500 Profit Per unit 1200 /30 N ’ <O ‘
R ——————
ID: 4.4-9a 75,000

8/51
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27. Smith and Jones CPA firm employs 12 accountants and 10 paraprofessionals. Direct and indirect costs are applied on a professional labor = hour basis that includes
both attorney and paraprofessional hours. Following is information for 2018:

Budget Actual
Indirect costs $300,000 $330,000
Annual salary of each attorney $100,000 $120,000
Annual salary of each paraprofessional $28,000 $30,000
Total professional labor - hours 40,000 dih 50,000 dih

What are the actual direct - cost rate and the actual indirect - cost rate, respectlvely, per professional labor - houfl

: " ) + B ) ) 7'
O A. $34.80; $6.00 D\rcc\' Cosy Pef D‘—‘-l Unclizect pes- DLH
O B. $43.50; $6.60 (20,000 X 1& = 1,440,000 330,00 -, (,
O C. $37.00; $7.50 30,000 X 10 7 B30, 000 50,000
‘O D. $34.80; $6.60 | , 74 0, 000
T" SO/OOO
ID: 4.4-20a .30

9/51
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28. Apple Valley Corporation uses a Job cost system and has two production departments, A and B. Budgeted manufacturing costs for the year are:

Department A Department B
Direct materials $750,000 $100,000
Direct manufacturing labor $500,000 $500,000
Manufacturing overhead $1,000,000 $800,000
The actual material and labor costs charged to Job #432 were as follows: -
Total

Direct materials: $24,000
Direct labor:

Department A $7,000

Department B $9,000

$16,000

Apple Valley applies manufacturin

g overhead costs to jobs on the basis of direct manufacturing labor cost using departmental rates determined at the beginning of
the year.

For Department A, the manufacturing overhead allocation rate is

O A. 200% MoH [,000,000

O B. 180%

O C. 160% DL Soo, 000

O D. 50%

ID: 4.5-15a o

29. Actual (rather than allocated) manufacturing overhead costs are first recorded in the

(O B. Cost of Goods Sold account
(O €. Work-in-Process Control account
O D. Finished Goods Control account

ID: 4.6-9

4/51
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30. The ending balance in the Work-in-Process Control account represents the costs of all jobs that

O A. have been completed but not sold ’\
() B. have not been completed --
(O C. have been completed and sold to customers

(O D. are reported on the income statement

1D: 4.6-10

31.

Which account is credited if direct materials of $25,000 and indirect materials of $10,000 are sent to the manufacturing plant floor?

(O A. Materials Control for $35,000

S,000
(O B. Manufacturing Overhead Control for $35,000 WP 3 &
O €. Work - in - Process Control for $35,000

Materils  Cortrol 35,000
(O D. Accounts Payable Control for $15,000

ID: 4.6-13a

32.

A company would use multiple cost-allocation bases

(O A. because thisis a simpler approach than using one cost allocation base
(O B. because there is more than one way to allocate overhead

(O C. if managers believe that using multiple cost-allocation bases is the only acceptable method
wrDaxif mana_gers-b_eﬁeﬁe’d"fhé’ benefits exceeded the additional costs of that costing system

ID: 4.7-9
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33. Filippucci Company used a budgeted indirect-cost rate for its manufacturing operations, the amount allocated ($200,000) is different from the actual amount incurred
($225,000).

Ending balances in the relevant accounts are:

Work-in-Process $10,000
Finished Goods 20,000
Cost of Goods Sold 170,000

Under the writeoff approach, the difference between Manufacturing Overhead Control and Manufacturing Overhead Allocated is adjusted in the

O A. Miscellaneous Expenses account
O B. Work-in-Process account

O €. Cost of Goods Sold account”

QO D. Manufacturing Overhead account

ID: 4.7-10

34. Advantage Inc. employs 20 professional cleaners. Budgeted costs total $1,81 5,600 of which $1,652,400 is direct costs. Budgeteq indirect costs are $?67,000 and
actual indirect costs were $797,400. Budgeted professional labor - hours are 1,020,000 and actual hours were 1,068,000. What is the budgeted direc
cost - allocation rate?

O A. $1.78 per hour Bud DC l, 53,400

O B. $1.62 perhour Bwl LH 1,020,000
(O C. $1.70 per hour

(O D. $0.85 per hour

ID: 4.8-3a

35. A flexible budget

(O A. is another name for management by exception
(O B. provides favorable operating results

T e tha narArE
™ ST ed at the end { 8 ]

O D. is based on the budgeted level of output

ID: 7.2-3

12/51
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2§ An unfavorable flexible - budget variance for variable costs may be the result of

(O A. paying lower prices for inputs than were budgeted
(O B. selling output at a higher selling price than budgeted
(O C. selling less quantity compared to the budgeted

() D. using more input quantities than were budgeted

ID: 7.2-5

37. nit but actually used $140 of material per unit, and planned to make 1,110 units but actually made 990 units.

Goodard Inc. planned to use $151 of material per u

The flexible - budget variance for materials is

O A. $10,890 unfavorable ﬁ&t‘—’—"ﬁ\ <P ﬁ&
() B. $10,890 favorable AP x AC X
O €. $12,210 unfavorable Mo x49 O ISI X 990
O D. $12,210 favorable 3%, b OO 149,490
| F 10,390 |
ID: 7.2-11a

WWM-W‘W




(XY

J—

L SR—— -

Sales volume (in units)
Sales revenues
Variable Costs

Contribution margin
Fixed costs

Operating profit

The flexible budget will report

O A. $290,304
O B. $240,000
QO c. $201 ,600
O . $241,920

ID: 7.2-21a

ActualResults FIexibleBudge_t StaticBudget
10,000

12,000

$530,000 $ $636,000
200,000 $ 241,920
$330,000 $ $394,080
277,800 $ 269,300

$52,200 $ $124 780
——— e R ldea 7. 5) 10

for variable costs.
- P x 3Q& /unit X AO
oH),920
] 2,000

0,000

RO MU X 10,000
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39. The actual infomgxion pertains to the month of June. As a part of the budgeting process, Great Cabinets Company developed the following static budget for June.
Great Cabinets is in the process of preparing the flexible budget and understanding the results.

Sales volume (in units)

11,000
Sales revenues $594,000
Variable costs 253,000
Contribution margin 341,000
Fixed costs 275,700
Operating profit $65,300

The flexible - budget variance for variable costs is

O A. $66,760 favorable

O B. $101,540 favorable

(O C. $153,967 unfavorable
- (O D. $1,760 unfavorable

ID: 7.2-23a

Print Questions

Actual Results Flexible Budget Static Budget

14,000
$756,000
319,760
436,240
269,400

$166,840

14,000

\U 1760 N

SP ¥ AO
319, 7o x\l,000

40. An efficiency variance reflects the difference between

(O A. a standard input quantity in a company and its main competitors

(O B. actual input quantities used last period and current period
© C. an actual input quantity and a budgeted input quantity

O D. an actual input quantity used in a company and its main competitors

|D: 7.4-2

httpsdlxlitemprod.pearsoncmg.oomlapilv1Ipﬂntlhlghered
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O A
O B.

oc
o)}

Which of the following is the correct formula for the materials price variance?

Print Questions

(Actual price of input - Budgeted price of input) x Actual quantity of input

(Actual quantity of input used - Budgeted quantity of input allowed for actual output) x Actual
price of input

(Actual price of input - Budgeted price of input) x Budgeted quantity of input

(Actual quantity of input used - Budgeted quantity of input allowed for actual output) x
Budgeted price of input

ID: 7.5-3

42.

O A.
O B.
Oc.
QO D.

Which of the following could be a reason for a favorable material price variance?

the purchasing manager bargaining effectively with suppliers
the personnel manager hiring underskilled workers
the purchasing manager giving orders for small quantity to reduce storage cost

the purchasing manager accepting a bid from the highest - priced supplier to ensure the
quality of material

ID: 7.6-2

43. Cost variances should be investigated

O A.

OB.
Oc
O D

when the variance is less than a certain percentage of budgeted costs, as determined by
management

even though the cost of investigation exceeds the benefit as determined by management
when they are considered within the "in - control" range as determined by management
when the variance is more than a certain percentage of budgeted costs, as determined by

~ management

ID: 7.6-9

httpsJMnemprod.poarsoncmg.comlapllvﬂprlntIhigherad

14/51

16/51



9/8/2021
g Print Questions

44. Standard ma_terial cost per kg of raw material is $6.10. Standard material allowed per unit is 3 Kg. Actual material used per unitis 3.5 Kg. Actual cost per kg is
$5.50. What is the standard cost per output unit?

O A. $19.25 3

O
O B. $18.30 x L
O C. $16.50 K& SC
O D. $21.35
ID: 7.4-7a

45. Heavy Products, Inc. developed standard costs for direct material and direct labor. In 2017, All estimated the following standard costs for one of their major

products, the 10 - gallon plastic container.

Budgeted quantity Budgeted price
Direct materials 0.8 pounds $60 per pound
Direct labor 0.25 hours $25 per hour

During June, Heavy Products produced and sold 15,000 containers using 22,000 pounds of direct materials at an average cost per pound of $64 and 12,000 direct
manufacturing labor ~ hours at an average wage of $26.56 per hour.

June's direct material flexible — budget variance is

Actval Flexible
(O A. $88,000 favorable 22,000X 0 y
O B. $688,000 unfavorable - 22,000 x4 ' 1S,000% (.8 x (00)
(O €. $60,000 unfavorable T Yo% 000 l, 320,000 7&0, 000
O D. $18,720 favorable | U 8%,000 | LU_(00,000 B

ID: 7.5-7a LU 688,000 )

17151
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46.

Print Questions
Heavy Products, Inc. developed standard

products, the 10 - ooRon pless o(mmimtcosts for direct material and direct labor. In 2017, All estimated the following standard costs for one of their major
o A Budgeted quantity Budgeted price

rect materials 0.8 pounds $100 per pound
Direct labor 0.2 hours $15 per hour

During June, Heavy Products produced ang sola 17,000 containers usin

. g 1,900 pounds of direct materials at an average cost per pound of $104 and 3,400 dj
manufacturing labor - hours at an average wage of $100.75 per hour. oSirect

The direct manufacturing labor efficiency variance during June is

O A. 81,457 750 unfavorable SP x H& | 5P X SQ/UV\H' X A‘O

p— 3,%00 | & X 17
O €. $68,510 unfavorable 15 x g 5 x. , 00Q
O D. $291,550 favorable 5),000

O ) Sweo

ID: 7.5-10a

47.

Genent Industries, Inc. (Gll), developed standard costs for direct material and direct labor. In 2017, Gll estimated the following standard costs for one of their major
products, the 30 - gallon heavy - duty plastic container.

Budgeted quantity Budgeted price
Direct materials 0.2 pounds $10 per pound
Direct labor 0.5 hours $16 per hour

During July, GlI produced and sold 4,000 containers using 1,100 pounds of direct materials at an average cost per pound of $8 and 2,075 direct manufacturing labor
hours at an average wage of $16.25 per hour.

July's direct material flexible - budget variance is

O A. $3,000 favorable Actua Flexisle
S ‘;1‘-~~"‘_:“Li.--‘: favorable ' [} lDD X g . qf 000 X s a X lo
8 l(): ::.600 unfavorable g ’30 O 8, 000
LU 00 \
ID: 7.5-11a L

18/51
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Print Questions

' . Budgeted quantity Budgeted price
Direct materials 0.5 pounds $20 per pound
Direct labor 0.7 hours $13 per hour

During July, GIi produced and sold 3,000 i i irect m
\ "UUU containers using 1,600 pounds of d ial i i
S " vy ok g pounds of direct materials at an average cost per pound of $19 and 2,180 direct manufacturing

The direct Material price variance during July is

O A. $1,600 favorabe . Actua SPx AQ
O B. $2,000 unfavorable
O €. $3,000 unfavorable LiGoo xiq e ¥ar
O D. $1,600 unfavorable L

F 1,boo \

ID: 7.5-12a

49.

Mid City Products Inc. (MCP), developed standard costs for direct material and direct labor. In 2017, MCP estimated the following standard costs for one of their
most popular products. ~ 1

Budgeted quantity Budgeted price
Direct materials 1 pounds $6.25 per pound
Direct labor 0.3 hours $19 per hour

During September, MCP produced and sold 2,000 units using 2,400 pounds of direct materials at an average cost per pound of $6 and 570 direct labor hours at an
average wage of $19.25 per hour.

The direct labor flexible - budget variance during September is

Am\ | Hﬁ’(iblﬁ
<000 X .3 X119
(1,400

‘O A. $428 favorable .
O B. $578 favorable S0x%x 19 s

(O C. $578 unfavorable 2
O D. $428 unfavorable 10,47

| F_4a8 J

ID: 7.5-20a

19/51
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Print Questions
50. Mid City Products Inc. (MCP i i [
most i ucts( ). developed standard costs for direct material and direct labor. In 2017, MCP estimated the following standard costs for one of their
Budgeted quantity Budgeted price
Direct materials 7 pounds $6.40 per pound
Direct labor 0.4 hours $11 per hour
During September, MCP produced and sold 1,000 units usin i i '
g , g 7,400 pounds of direct materials at an average cost per pound of $6 and 360
— o S11 96 e o g perp direct labor hours at an
The direct labor price variance during September is
P— : Actua SPx AL
(O B. $440 unfavorable 3&0 XS [\ x 3O
(O C. $54 favorable
(O D. $60 favorable \ . U
ID: 7.5-21a
51. Mid City Products Inc. (MCP), developed standard costs for direct material and direct labor. In 2017, MCP estimated the following standard costs for one of their

most popular products.

Budgeted quantity Budgeted price
Direct materials 3 pounds $3.30 per pound
Direct labor 0.2 hours $11 per hour

During September, MCP produced and sold 2,000 units using 6,400 pounds of direct materials at an average cost per pound of $3 and 370 direct labor hours at an
average wage of $11.40 per hour.

The direct labor efficiency variance during September is _

30 favorable

Oﬁ. $182 avae 370 [l Xx.a X /000
(O C. $342 unfavorable “ X L-I JoO
O D. $160 favorable 4,010 )

w_F 330 \

ID: 7.5-22a

20/51
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52. Radon Corporation manufactured 37.500 units during March. The following fixed

S cBinction Actual Budgeted
. tfc 37,500 units 34,000 units
achine-hours 10,375 hours 10,200 hours

Fixed overhead costs for March $213,200 $204,000

What is the fixed overhead production-volume variance?

QO A. $21,000.00 unfavorable Flexible

O B. $9.200.00 favorable )

O €. $9,200.00 unfavorable '3"\ y 000 X ("?Oqfoco/S"’: 00o

) D. $21,000.00 favorable X (.ﬂ

ID: 8.4-20 LFE 2,000 \

overhead data pertain to March:

Allocatec)
37,500 X (;’O"rooo/:s%an)

V.
X

53. If the production planners set the budgeted machine hours standards t

QO True
(Q False

ID: 8.4-22

0o loose, one could anticipate there would be a favorable fixed overhead efficiency variance.

54. Allocated fixed overhead can be expressed in terms of allocation-base units or in terms of the budgeted fixed cost per unit.

O True
O False

ID: 8.4-24

55. Fixed costs for the period are by definition a lump sum of costs that remain unchanged and therefore the fixed overhead spending variance is always zero.

QO True

QO False

ID: 8.4-28

https://xlitemprod.pearsoncmg.com/api/v1/print/highered
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56. If fixed overhead cost variances are always written off to Cost of Goo

ds Sold, operating income can be manipulated for either financial reporting or income tax
purposes.

QO True
O False

ID: 8.4-31

57.

Variances Spending Efficiency Volume
Variable manufacturing overhead $7100 F $38,000 U (B)

Fixed manufacturing overhead $27,400 U (A) $85,000 U
In the above table, the amounts for (A) and (B), respectively, are

O A. Zero; Zero

O B. $30,900 U; $123,000 U

O C. Zero; $123,000 U
(O D. $30,900 U:; Zero

ID: 8.5-9a

8. variances Spending Efficiency Volume

Variable manufacturing overhead $7,700 F $40,000 U (B)
Fixed manufacturing overhead $28,200 U (A) $81,000 U

In a combined 3 - variance analysis, the total spending variance would be

O A. $32,300U o?%'aoo U _ 7’700 r_': \

O B. $20,500U
O C. $20,500 F
O D. $47,700 F

ID: 8.5-10a

22/51
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°% variances Spending Efficiency Volume
Variable manufacturing overhead $7,900 F $32,000 U (B)
Fixed manufacturing overhead $28,300 U (A) $88,000 U
The total production - volume variance should be
O A. $116 300 F 1 bhe VMOH O\OCSnI t hﬁVC vol vav-
O B. $116,300 U
O C. $88,000 F
O D. $88,000U
ID: 8.5-11a
60 variances Spending Efficiency Volume
Variable manufacturing overhead $8,000 F $31,000U (B8)
Fixed manufacturing overhead $28,400 U (A) $80,000 U
The total overhead variance should be
O A $131400F 8,900 U+ 31,000 U t+ 80,000 - 8,000 F

O B. $147,400F

O D. $147,400U

ID: 8.5-12a

61. The production-volume variance is a component of the sales-volume variance. -

O True #
O False

ID: 8.6-8

httpsjhdnempmd.pearsonemg.convapllv1lpﬂn1!highefed
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62. A favorable production-volume variance arises when manufacturing capacity planned for is NOT used.

@ ’

J  True

O False

ID: 8.6-10

63. Raposa, Inc,, produces a special line of plastic toy racing cars. Raposa, Inc., produces the cars in batches. To m

anufacture a batch of the cars, Raposa, Inc., must

set up the machines and molds. Setup costs are batch - level costs because they are associated with batches rather than individual units of products. A separate

Setup Department is responsible for setting up machines and molds for different styles of car.

Setup overhead costs consist of some costs that are variable and some costs that are fixed with respect to the number of setup - hours. The following information

pertains to June 2015:

Actual

Amounts

Units produced and sold 14,900
Batch size (number of units per batch) 290
Setup - hours per batch 5
Variable overhead cost per setup - hour $49.00
Total fixed setup overhead costs $15,894

Static - budget
Amounts
11,800

250

6

$45.0
$13,594

Calculate the efficiency variance for variable overhead setup costs. (Round ali intermediary calculations two decimal places and your final answer to the nearest

whole number.)

O A. $1,028 favorable SE_LB_Q.:
O B. $4,532 unfavorable L%S . 14,900 v 5
O C. $1,028 unfavorable

290
I1,5b 0

LF 4532 \

ID: 8.7-1a

|o,09

SPx SB./unit x AQ)
4 x 14900
250

X @

hitps://xlitemprod.pearsoncmg.com/api/vi/print/highered
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64. Raposa, Inc., produces a special line of plastic toy racing cars. Raposa, Inc., produces the cars in batches. To manufacture a batch of the cars, Raposa, Inc., must

set up the machines and molds. Setup costs are batch - level costs because they are associated with batches rather than individual units of products. A separate
Setup Department is responsible for setting up machines and molds for different styles of car.

Setup overhead costs consist of some costs that are variable and some costs that are fixed with respect to the number of setup - hours. The following information
pertains to June 2015:

Actual Static - budget

Amounts Amounts

Units produced and sold 15,000 11,250
Batch size (number of units per batch) 345 295
Setup - hours per batch 5 6
Variable overhead cost per setup - hour $47.00 $45.00
Total fixed setup overhead costs $13,540 $11,440

Calculate the spending variance for variable overhead setup costs. (Round all intermediary calculations two decimal places and your final answer to the nearest
whole number.)

O A. $435 favorable Actual 1 SPX AG.
() B. $3,947 favorable AP x AL %
Ot 4Txs x b= a3

9, 782
ID: 8.7-2a 10,27 ) 1435_,_5

25/51
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65. Raposa. Inc., produces a special line of plastic toy racin
set up the machines and molds. Setup costs are batch -

Print Questions

Setup Department is responsible for setting up machines and molds for different styles of car.

Setup overhead costs consist of some costs that are variable and some costs that are fixed with res

pertains to June 2015:

Units produced and sold

Batch size (number of units per batch)
Setup - hours per batch

Variable overhead cost per setup - hour
Total fixed setup overhead costs

Actual Static ~ budget
Amounts Amounts
15,450 11,950
345 285

6 6.25

$46.00 $40.00
$14,357 $12,057

Calculate the flexible - budget variance for variable overhead setup costs. (Round all intermediary calculations two decimal places and your final answer to the

nearest whole number.)

O A. $1,193 unfavorable

rapie . «

O C. $1,612 favorable
(O D. $1,612 unfavorable

ID: 8.7-3a

Actua|
APx A
46 X

12,360

Fexible
SPx 3/uni+ x RO

15,450 ¥ (, Ho X' I1S4S0 v (,.5
343 23S
L F 1,193 | 13552

pect to the number of setup - hours. The following information

g cars. Raposa, Inc., produces the cars in batches. To manufacture a batch of the cars, Raposa, Inc., must
level costs because they are associated with batches rather than individual units of products. A separate

https://xlitemprod.pearsoncmg.com/api/v1/print/highered
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66. Raposa, Inc., produces a special line of

set up the machines and molds. Setup

Setup Department is responsible for setting up machines and molds for different styles of car.

Setup overhead costs consist of some costs that are vari

plastic toy racing cars. Raposa, Inc., produces the cars in batches. To manufacture a batch of the cars, Raposa, Inc., must
costs are batch - level costs because they are associated with batches rather than individual units of products. A separate

able and some costs that are fixed with respect to the number of setup - hours. The following information
pertains to June 2015:
Actual Static - budget
Amounts Amounts
Units produced and sold 14,850 11,850
Batch size (number of units per batch) 325 285
Setup - hours per batch 5 5.25
Variable overhead cost per setup - hour $41.00 $39.00
Total fixed setup overhead costs $12,940

Calculate the spending variance for fixed setup averhead costs.

‘O A. $2,025 unfavorable Actua \
O B. $2,025 favorable APx A
O €. $3,000 unfavorable

O D. $8,271 unfavorable

2 () 125 N

$10,915

SPx SQ/unit XTO

|

ID: 8.7-4a

/Q/C/LIO Lu 2028

.

10,9/S

hitps://xlitemprod.pearsoncmg.com/api/v1/print/highered
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67. Raposa, Inc.. produces a

sel up the machines and

Setup Department is responsible for setting up machines and molds for different styles of car.

Setup overhead costs consist
pertains to June 2015:

Units produced and sold

Batch size (number of units per batch)
Setup - hours per batch

Variable overhead cost per setup = hour
Total fixed setup overhead costs

Calculate the production - volume variance
nearest whole number.)

 Flexible /StakiC
lg 1GE2

¥ usoT

O A. $4,807 unfavorable
O B. $72 unfavorable
O C. $72favorable

ID: 8.7-5a

special line of plastic toy racing cars. Raposa, Inc., produces the cars in batches. To manufacture a b
molds. Setup costs are batch - level costs because they are associated with batches rather 1

Actual

Amounts

14,750
300

3
$43.00

$16,850

v -

atch of the cars, Raposa, Inc., must

han individual units of products. A separate

of some costs that are variable and some costs that are fixed with respect to the number of setup - hours. The following information

Static - budget
Amounts
11,450

250

4.25

$39.00

$16,682

for fixed overhead setup costs. (Round all intermediary calculations to two decimal places and your final answer to the

Allocatecl
TN TR

SP x SQ./unit x ARO
ALYy, |

750 3 425 x 5.7 - |6, b3a
250

yeo07. F

hﬂptdhdltmprod.pommng.condapllﬂlprlntﬂigherod

Sk Op =
hr

OH =
rukC

1490 ¥ 4,85 = 194.LS
250
. - $5.70

33

194 ¢S
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68. Bristol Fabricators, Inc.,

Print Questions

produces air purifiers in batches. To manufacture a batch of the
assembly line tooling. Setup costs are batch -

. level costs because they are associated with batches
Department is responsible for setting up mach

ines and tooling for different models of the air purifiers

Setup overhead costs consis

t of some costs that are variable and some costs that are fixed with respect to the number of setup - hours. The following information
pertains to June 2015:
Budget Actual
Amounts Amounts
Units produced and sold 13,200 naie
Batch size (number of units per batch) Al 385
Setup - hours per batch 0 i
Variable overhead cost per setup - hour $50.00 $52.00
Total fixed setup overhead costs 325,863 $23.803

Calculate the efficien

cy variance for variable overhead setup costs. (Round all iry
whole number.)

purifiers, Bristol Fabricators, Inc

, Inc., must set up the machines and
rather than individual units of products, A separate Setup

termediary calculations two decimal places and your final answer to the nearest

O A. $113 favorable SPx AR Figs

O B. $322 unfavorable So X (’-?'OOO s 5) SPX SQ/unit x go

O C. $209 favorable - & SoX 2190y ¢, -
D. $322 favorable ‘¥isT} Wo-

ID: 8.7-6a

)

4 - sl =

httpsu’/xmemprod.pearsoncmg.oomlaplmIprintlhighered

T T T R ———

_—~—

209 F

A L
k ([\9.000/5‘35 x<8- [aoco/dic x67] ) x 5o ~©
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Print Questions

responsible for setting up machines and tooling for different models of the air purifiers.

Setup overhead costs consist of some costs that are variable and some costs that are fixed with respect to the number of setup - hours. The following information

pertains to June 2015:

Budget Actual

Amounts Amounts

Units produced and sold 11,100 10,000
Batch size (number of units per batch) 460 400
Setup - hours per batch 7 5.75
Variable overhead cost per setup - hour $52.00 ¢ $55.00
Total fixed setup overhead costs $21,621 $21,521

Calculate the spending variance for variable overhead setup costs. (Round all intermediary calculations two decimal places and your final answer to the nearest

whole number.)

(O A. $438 unfavorable
(O B. $431 favorable
(O C. %438 favorable

() D. $431 unfavorable

ID: 8.7-7a

A‘c-\'ua\ |

APxAQ 190w
55 % 5,75 x4Hoo
—=2,906 25 L0 Y3l

SPXx A -

10,000

Sa x S.78 XYoo

)

7,475

purifiers in batches. To manufacture a batch of the purifiers, Bristol Fabricator, Inc., must set u i
: . ,Inc., p the machines and assembly
line tooling. Setup costs are batch - level costs because they are associated with batches rather than individual units of products, A separate Setup Department is

https://xlitemprod.pearsoncmg.com/api/v1/print/highered
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70. Bristol Fabricators, Inc., produces air

, \ purifiers in batches. To manufacture a batch of the purifiers, Bristol Fabricators, Inc., must set up the machines and assembl

liry . : f ' . mbly
rl e tooh_r;g. Setup qosls are bat_ch - level costs because they are associated with batches rather than individual units of products. A separate Setup Department is

esponsible for setting up machines and tooling for different models of the air purifiers.

Setup overhead costs consist of some costs that are variab

R W e SIS, le and some costs that are fixed with respect to the number of setup - hours. The following information
Budget Actual
Amounts Amounts
Units produced and sold 12,400 11,000
Batch size (number of units per batch) 445 395
Setup - hours per batch 10 8.75
Variable overhead cost per setup - hour $45.00 $50.00
Total fixed setup overhead costs $34,831 $34,531

Calculate the flexible - budget variance for variable overhead setup costs. (Round all intermediary calculations two decimal places and your final answer to the
nearest whole number.)

O A. $1,218 favorable P‘___C*U“‘ o Bia: Flexible /Static
O B. $1,060 favorable P,P ¥ AA 3 : o £ 25x4S SP SG/UnH‘ X TO
O C. $1,218 unfavorable \ ,()OO 5,75 X 50 / Xe- v 11,000
S XY, S saq 4sx¥ N0 X350
'O D. $1,060 unfavorable 9 € % 14, 19354 34 \O,qb 4ys ll,|23-50

ID: 8.7-8a U 1L,218.35 | _ Fiss \
N Ly WO 1 N

31/31
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71. Bristol Fabricators, Inc., produces air purifi

line tooling. Setup costs are batch - level

Print Questions

ers in batches. To manufacture a batch of the purifiers, Bristol Fabricators, Inc., must set up the machines and assembly

costs because they are associated with batches rather than individual units of products. A separate Setup Department is
responsible for setting up machines and t

ooling for different models of the air purifiers.

Setup overhead costs consist of som
pertains to June 2015:

Units produced and sold

Batch size (number of units per batch)
Setup - hours per batch

Variable overhead cost per setup - hour
Total fixed setup overhead costs

Calculate the spending variance for fixed overhead setup costs.

(O A. $150 unfavorable
(O B. $828 unfavorable
C. $150 favorable
(O D. $828 favorable

ID: 8.7-9a

Actual
3%,803%

UFE 150

Budget
Amounts
13,400
430

10

$50.00
$38,953

Flex/Stetic

3%.,953
|

Actual
Amounts
12,000
400

8.75
$55.00
$38,803

e costs that are variable and some costs that are fixed with respect to the number of setup - hours. The following information

https://xlitemprod. pearsoncmg.com/apl/v1/print/highered
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72. Bristol Fabri Print Questions
) ":: lfz)o“:bﬂgators, Inc., produces air purifiers in batches. To manufacture a batch of the purifiers, Bristol Fabricators
9. Setup costs are batch-level costs because they are associated with batches rather than individual units

+ Inc., must set up the machines and assembly
responsible for setting up machines and tooling for different models of the air purifiers

of products. A separate Setup Department is

Setup overhead costs consist of som

: e costs that are variable and some costs that are fixed with respect to the number of setup-
pertains to June 2015:

hours. The following information

Actual Amounts Static- budget Amounts
Units produced and sold 16,200 15,000
Batch size (number of units per batch) 460 410
Setup-hours per batch 8 7
Variable overhead cost per setup-hour $46 $51
Total fixed setup overhead costs $33,809 $33,709

Calculate the spending variance for fixed overhead setup costs.

O A. $100 unfavorable —-——:\ F 'e’(/ Stecic
(O B. $100 favorable 33,809 33,709
(O C. $220 favorable \ 100 F S

(O D. $220 unfavorable

ID: 8.7-9

33/51
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73. Bristol Fabricators, |
line tooling. Setup c;‘;s g?dgc‘iz air purifiers in batches. To manufacture a batch of the purifiers, Bristol Fabricators, Inc., must set up the machines and assembly
e batch - level costs because they are associated with batches rather than individual units of products. A separate Setup Department is

responsible for setting up machines and tooling for different models of the air purifiers.

Setup overhead costs consist of som i
. ] _ o ;
Sewp overhead costs sts that are variable and some costs that are fixed with respect to the ber of setup - hours, The following information

Budget

_ Amounts
Units produced and sold 16,400
Batch size (number of units per batch) 455
Setup - hours per batch =, 9
Variable overhead cost per setup - hour $51.00
Total fixed setup overhead costs $36,100

Calculate the production - volume variance for fixed overhead setup costs. (Round all intermediary calculations to tw

nearest whole number.)

Actual
Amounts
15,000
395

7.75
$53.00
$35,739

o decimal places and your final answer to ine

O A. $361 unfavorable Flt)(\b\Q. /S‘!Oﬂ ‘C Allocatedd Noms; |L,L.|oo
() B. $3,074 favorable 3P x ‘50\/()(“-\- % T'O SP X &/Unﬁ' \ H'O H%a\_\ ﬁz)
O cC. $3,074 unfavorable N 13,000 X f x T 0%

(O D. $361 favorable .o ‘ - ussS 320 7-3,‘{ |

30,100 J Bl - 300 = |3
ID: 8.7-10a L FMOH ratc : el HO
74. Which of the following best descnbes how ﬂxed cost are treated ina vanable cost meihod? B - A

O A. Theyare classified as nonmanufacturing costs

() B. Theyare allocated to the product cost using a denominator-level capacity choice

O C. They are part of the product cost

v are excluded from inventory cost and are tr treated as period costs
ID: 9.1-3
34/51
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15,

In . fixed manufacturing costs are included as inventoriable costs.

O A. absorption costing
(O B. throughput costing
(O C. direct costing

(O D. variable costing

1D: 9.1-7

Print Questions

76.

method includes fixed:manufacturing overhead costs as inventoriable costs.

(O A. Absorption costing
(O B. Direct costing

(O C. Throughput costing
(O D. Variable costing

1D: 9.1-8

77.

Time Again LLC produces and sells a mantel clock for $120.00per unit. In 2017,42,12

includes:

Direct materials $41.00 per unit

Direct manufacturing labor $6.00 per unit
vVariable manufacturing costs $4.50 per unit
Sales commissions $13.50 per part

Fixed manufacturing costs $65.00 per unit
Administrative expenses, all fixed $39.50 per unit

What is the inventoriable cost per unit using absorption costing?

O B. $104.50

O C. $47.00 DM oL VMOH
O D. $51.50

ID: 9.1-15a

4y ¥ Lo yUs + (S

FMoH

5 clocks were produced and 37,958 were sold. Other information for the year

hnpsﬂxlitemprod.pearsoncmg.corrulapb’v1lprlntlh|ghered
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78. Fast Track Auto produces and sells an auto part for $75 per unit. In 2017, 125,000 parts were produced and 75,000 units were sold. Other information for the year
includes:

Direct materials $25 per unit

Direct manufacturing labor $6 per unit

Variable manufacturing costs $2 per unit

Sales commissions $6 per part

Fixed manufacturing costs $760,000 per year
Administrative expenses, all fixed $270,000 per year

What is the inventoriable cost per unit using variable costing?

O A. $39

O B. $25 A5 + 6 F 2
Q¢c. $33 OM (VA VMM’\
O D. $31

ID: 9.1-16a

79. Which of the following would be subtracted from sales while calculating contribution margin in a variable costing format of an operating income statement?

(O A. Renton the headquarters building
(O B. Sales commission on incremental sales
(O C. Rent on factory building

pYEE

ID: 9.2-5

80. are subtracted from sales to calculate gross margin.

(O A. Variable administrative costs

(O C. Fixed selling costs
(O D. Fixed administrative costs

1D: 9.2-6
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Swansea Finishing produces and sells a decorative pillow for $98.00 per unit. In the first month of operation, 2,300 units were

produced and 1,750 units were sold.

Actual fixed costs are the same as the amount budgeted for the month. The fixed cost budget is based on the production of 2,300 units. Other information for the
month includes:

Variable manufacturing costs
Variable marketing costs
Fixed manufacturing costs
Administrative expenses, all fixed
Ending inventories:

Direct materials

WIP

Finished goods

What is cost of goods sold using variable costing?

O A, $75,425
O B. $38,675
O C. $62,330
O D. $152,030

ID: 9.2-8a

$22.10 per unit

$5.00 per unit
$16.00 p=r unit
$23.00 per unit

_0_
_0_
550 units

|, 750 ¥ A2}

* M\j does
variabl<
many  EXP
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82. Jean Peck’

k's Furniture manufactures tables for hospitality sector. It takes only bulk orders and each table is sold for $300.00 after negotiations. In the month of
January, it manufactures 3,300 tables and sells 2,500 tables. Actual fixed costs are the same as the amount of fixed costs budgeted for the month.

The following information is provided for the month of January:

Variable manufacturing costs

$140.00 per unit
Fixed manufacturing costs $95,000 per month
Fixed Administrative expenses $26,000 per month

At the end of the month Jean Peck's Furniture has an ending inventory of finished goods of BOOBRS The company also incurs a sales commission of $15.00 per
unit, ~

N

What is the gross margin when using absorption costing? (Round any intermediary calculations to the nearest cent and your final answer to the nearest dollar.)

‘O A. $328,025 Rev  £,500 x300 - 7%,00
O B. $192,993 Cas 4o + C:,glo(x)/ 3,300) ¥ ds00 = 421, 964.70
O €. $350,500 I GM - 3a%g,030

O D. $591,500

ID: 9.2-12a

83. Given a constant contribution margin per unit and constant fixed costs, the period-to-period change in operating income under variable costing is driven solely by

O A. changes in the quantity of units produced

( B. changes in the quantity of units actually sold
(O C. changes in sales price per unit

(O D. changes in ending inventory

ID: 9.2-36
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84.

Print Queslions
Ways to "produce for inventory” that result in increasing operating income include

O A. undervaluing ending inventory by not recording certain costs that have been incurred

() B. switching production to products that absorb the most amounts of fixed manufacturing costs
(O C. delaying items that absorb the greatest amount of fixed manufacturing costs

(O D. switching production to products that absorb the least amounts of fixed manufacturing costs

1D:9.3-3

85.

To discourage producing for inventory, management can

O A. implement absorption costing across all departments

(O B. evaluate performance over a quarterly period rather than a single year

oc.

velog budgeting and plan ing a es that rec ,na‘gement’s-fraedom to

O D. discourage using nonfinancial measures such as units in ending inventory compared to units
in sales as nonfinancial measures may not be congruent with management performance
goals

ID: 9.3-5

86.

The accounting firm firm of Smith & Jones LLC has a staff of 29 staff accountants and auditors and administrative staff. Budgeted total costs of the firm total

$4,400,000 of which $3,300,000 is direct - labor costs. Assuming that the remaini indirect and direct - labor cost is the allocation base, calculate the
budgeted indirect cost rate.

indiveck coss = Y 400,000 ~3,%0,000 = 1,100,000

O A. 133% of direct - labor cost
QO B. 33% of direct - labor cost - 0 100,000 =33 /

O C. 75% of direct - labor cost D
LC 2, 2,00,000
O D. 25% of direct - labor cost /_5 /

ID: 4.8-5a Fow

39/51
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87. The approach often used when dealing with small amounts of underallocated or overallocated overhead is the

Print Questions

O A. proration approach

O B. adjusted allocation-rate approach

O €. write-off to cost of goods sold approach
O D. adjusted write-off approach

ID: 4.7-7

88.

Which of the following is the correct formula for the materials price variance?

O A. (Actual quantity of input used - Budgeted quantity of input allowed for actual output) x
Budgeted price of input

O B. (Actual price of input - Budgeted price of input) x Budgeted quantity of input

O C. (Actual quantity of input used - Budgeted quantity of input allowed for actual output) x Actual
price of input

O D. (Actual price of input - Budgeted price of input) x Actual quantity of input

ID: 7.4-3

89.

Standard cost per output unit for each variable direct cost input is calculated by multiplying

O A aétual input allowed for one output unit by actual price per input unit
O B. standard input allowed for one output unit by standard price per input unit
(O C. actual input allowed for one output unit by standard price per input unit

O D. standard input allowed for one output unit by actual price per input unit

ID: 7.4-6
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90. 1f 1,000 units are produced and only 700 units are sold, results in the greatest amount of expense reported on the income statement.

O A. variable costing

O B. job costing

O C. absorption costing
O D. throughput costing

ID: 9.4-5

91. reduces theoretical capacity for unavoidable operating interruptions.

© A. Practical capacity

(O B. Normal capacity utilization

(O C. Theoretical capacity

(O D. Master-budget capacity utilization

ID: 9.5-2

92. Which of the following measures capacity levels in terms of demand for the output of the plant?

O A. practical capacity and theoretical capacity
(O B. master-budget capacity utilization and practical capacity

normal capacity | na mas budget capacity utilization

e

(O D. theoretical capacity and nomiél capacity utilization

ID: 9.5-6

93. Normal capacity utilization is the level of capacity that satisfies average customer demand over a period and takes into account seasonal, cyclical, and trend factors.

O True
O False

ID: 9.5-13
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Both theoretical capacity and master-budget capacity measure capacity levels in terms of demand for the output of the plant.

O True
QO False

ID: 9.5-14

95,

Engineering and human resource factors are both important when estimating theoretical or practical capacity.

O True
O False

ID: 9.5-17

96.

Practical capacity is the level of capacity that reduces theoretical capacity by considering unavoidable operating interruptions, such as scheduled maintenance time
and shutdowns for holidays.

QETrvea
O False

ID: 9.5-18

97.

Using as the denominator level also gives the manager a more accurate idea of the resources needed and used to produce a unit by excluding the cost of
unused capacity.

(O B. normal capacity utilization
(O C. theoretical capacity
(O D. master-budget capacity utilization

ID: 9.6-11
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st per unit because it is based on an ideali

98. Use of practical capacity results in an unrealistically small

fixed manufacturing co stic and unattainable level of capacity.

O True
‘O False

ID: 8.6-17

99. Using master budget capacity as the denominator level sets the cost of capacity at the cost of supplying the capacity, regardless of the demand for the capacity.

QO True
O False »

ID: 9.6-18
e demand for the capacity.

pacity at the cost of supplying the capacity, regardless of th

100. Using practical capacity as the denominator level sets the cost of ca
QO True
O False

ID: 9.6-21
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